<Pep dev Zenvep 1

Agye vVvd peynve v derv Hedr!

9+2=11

9+1=10

10+1=11
O+4=__ 9O+6=__
9+3=__ 9O+8=__
9+5=__ 9+1=__
ZR20_Uber den Zehner_Kartei Mag. Margit Zimmermann
<Pep dev Zenvep 2
Agye vVd peynve v derv Hedr!

8+3=11

8+2=10

10+1=11
8+4=__ 8+6=__
8+2=__ 8+8=__
8+7=__ 8+9=__
8+5=__ 8+1=__

ZR20 _Uber den Zehner_Kartei Mag. Margit Zimmermann



<Pep dev Zenvep 3

Agye vVvd peynve v derv Hedr!

T+4=11

7+3=10

10+1=11
T+3=__ T+6=__
T+2=__ T+8=__
T+T7T=__ 7T+9=__
7+5= T+1=_
ZR20_Uber den Zehner_Kartei Mag. Margit Zimmermann
<Pep dev Zenvep 4
Agye vVd peynve v derv Hedr!

6+5=11

6+4=10

10+1=11
6+3=__ 6+6=__
6+2=__ 6+8=__
6+7=__ 6+9=__
6+4=__ 6+1=__

ZR20 _Uber den Zehner_Kartei Mag. Margit Zimmermann



<Pep dev Zenvep 5

Agye vVvd peynve v derv Hedr!

S5+6=11

5+45=10

10+1=11
5+43=__ 5+45=__
5+2=__ 5+8=__
5+7=__ 5+49=__
5+4=__ 5+1=__
ZR20_Uber den Zehner_Kartei Mag. Margit Zimmermann
<Pep d0ev Zenvep 6
Agye vVd peynve v derv Hedr!

4+7=11

4+6=10

10+1=11
44+8=__ 24+9=__
4+9=_ 5+48=_
3+9=__ 9O+4=__
3+8=__ T+6=__

ZR20 _Uber den Zehner_Kartei Mag. Margit Zimmermann



<Pep dev Zenvep 7

Agye vVvd peynve v derv Hedr!

4+7=11

4+6=10

10+1=11
6+8=__ T+9=__
4+7=__ 6+8=__
5+49=__ 9+5=__
8+6=__ 8+7=__

ZR20_Uber den Zehner_Kartei Mag. Margit Zimmermann

<Pep dev Zenvep 8
Agye vVd peynve v derv Hedr!
4+7=1I
4+6=10
10+1=11
3+9=__ 6+8=__
5+6=__ 8+8=__
4+7=__ 9+9=__
9+5=__ 6+5=__

ZR20 _Uber den Zehner_Kartei

Mag. Margit Zimmerman



